Lushootseed (Skagit; Salishan)
Problem 6
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Skagit has several types of reduplication, each with a different meaning; all
can operate on verb roots, but not all on nouns. Describe each type of re-
duplication phonologically, morphologically, and semantically.
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Additional information:
-?alik® is a suffix marking an action performed in a conventional fashion;:
-?acis a suffix marking the name of a tree or bush;

ti?i’a ‘those’ is an irregular reduplication of ti?a ‘that’;

Pusasshibok., . s ‘We ran/jumped.’
Plisasanabdod ol i T e ‘We ran a few steps.’
PusaxPsantebeat Lo ‘We ran all over.’
PusaxPaxfabidad .0 0 E ‘We scurried around trying to get things done.’
Pesagetitabule. . ) ‘That waterbird flew off.’
PusdqagsPetitabule ‘That waterbird fluttered around.’
Pusdq@saq@?oati?irabuk®buk®. .. ‘Those waterbirds flew off in a flock.’
REIEI o o e G e e ) ‘He starved.’
UL & . o v o e ‘The baby/young animal starved.’
VOBV s 5 oz vvs v wids St ‘People starved everywhere.’
PESTRBUNAL <\ v oo i ‘He’s run-down.’
Balad i & nornis ci i min it s “Thisgis a nat:
T e C o S S ot ‘That’s a mouse.’
Uil . e ke ‘I kicked him.’

T R S SRR ‘T kicked the hell out of him.’

R AE i o O SN e TR et ‘I poked him with my foot.’
TuibRall ot . ‘We danced.’

. PRjOBIEEAAlR eI L ‘We danced a lot.’
Mibjub?aliENend L0 iR ‘We danced a little.’
bbb Paltlc ot . e e ‘We danced all over the place.’

< b T alIk PaaEPe ., . . e ‘That’s a pine tree.’

B T N 3 ‘He chopped it.’

. PUASHB . we v on sans it ‘He chipped it.’

T T ‘He chopped it to smithereens.’

CtqlqPacti?it ... ‘This is a vine maple tree.’
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